### BID EVALUATION REPORT.

1. Name of Procuring Agency:- Municipal Committee Badin.

Tender Reference No:- MC/BDN/28/ Dated 23.10.2014.

Tender Description/Name of/Item: - Supply of Cloth for Uniform.

Method Procurement: Single stage one envelop procedure.

Tender Published: SPPRA ID No.7166 Dated 27.10.2014.

Print Electronic Media ( SPPRA ID No. & News papers name with dated.

Total Bid Documents sold:-

7.

Total Bid Received:- 02 Nos:

8. Technical Bid opening date ( if applicable) Not applicable ( provide details in separate form)

02 Nos:

9. No. of Bid technically qualified (if applicable) Not applicable

10. Bid(s) Rejected:-

One.

11. Financial Bid Opening date:-

11.12.2014

### 12. BID EVALUATION REPORT.

Sr: No:	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost.	Reasons for acceptance/ rejection	Remarks.
0	1	2	3	4	5	6
1	Nisar Cloth Store Shahi Bazar Badin	787890/-		Offer Rate,	Lowest Rate.	
2	M. Ishaque Cloth Store Quaid-E-Azam Road Badin	1058695/-		Offer Rate.	Highest Rate.	

Chief Municipal Officer/Member of Procurement Committee M.C Badin.

Assistant Director/Member of Procurement Committee Local Fund Audit Badin. Assistant Director/Chairman of Procurement Committee Local Govt: Badin.

### BID EVALUATION REPORT.

1. Name of Procuring Agency:- Municipal Committee Badin

Tender Reference No:- MC/BDN/28/ Dated 23.10.2014.

Tender Description/Name of/Item: - Sewing Charge.

4. Method Procurement:-

Tender Published:- SPPRA ID No.7166 Dated 27.10,2014.

Print Electronic Media ( SPPRA ID No. & News papers name with dated.

Total Bid Documents sold:-

02 Nos:

Total Bid Received:-

02 Nos:

8. Technical Bid opening date ( if applicable) Not applicable ( provide details in separate form)

9. No. of Bid technically qualified (if applicable) Not applicable

10. Bid(s) Rejected:-

One.

11. Financial Bid Opening date:-

11.12.2014

### 12. BID EVALUATION REPORT.

Sr: No:	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost.	Reasons for acceptance/ rejection	Remarks.
0	1	2	3	4	5	6
1	Nisar Cloth Store Shahi Bazar Badin	356940/-		Offer Rate.	Lowest Rate	
2	M. Ishaque Cloth Store Quaid-E-Azam Road Badin	402240/-		Offer Rate.	Highest Rate.	

Chief Municipa Officer/Member of Procurement Committee M.C Badin.

Assistant Director/Member of Procurement Committee Local Fund Audit Badin.

Assistant Director/Chairman of Procurement Committee Local Govt: Badin.

### OFFICE OF THE RESIDENT AUDIT OFFICER LOCAL FUND AUDIT SCHEME BADIN

NO: RAO/LEWBON/ 169 /2014

Dated: 24-12-2014

To,

The Chief Municipal Officer, Municipal Committee Badin, District Badin, Sindh.

Subject:-

PROCUREMENT COMMITTEE

- 1- As per letter of local Government Department bearing No. SO-III(LG)7-43/2013, dated 19-05-2014, that is received from your office, dated 18-12-2014, Government has constituted a Procurement Committee and the Assistant Director Local Fund Audit, Badin is nominated as Member.
- 2 It is stated that the Local Fund Audit Department is working under the administrative control of Finance Department, Government of Sindh. It drives authority and performs function as prescribed in the Municipal Committee Fund Audit Rules-1964. These rules contain no any provision that permits Local Fund Audit Department to be a part of a Departmental Committee(s) like Procurement Committee of Auditees.
- 3 Besides it is stated that it would be in the fitness of decision making and auditing that audit personnel are not associated with Procurement proceedings. As a general rule if the audit personnel are made part of the administration or they indulge themselves in decision making then the independent audit would not be possible. However in case if any financial or legal implication arises, requiring opinion of audit, the same can be obtained from this Resident Audit Scheme.

4 - In view of above narrated facts it is requested that Local Government Department may kindly be requested to exclude audit Personnel from Procurement Committee.

> RESIDENT AUDIT OFFICER Local Fund Audit Scheme

Badin

Copy submitted for information to the Director Local Fund Audit Karachi.

Cox My disturbance . May 24 , Break

23/12/14 at 10:30 am tolked to 110:15: He will 0155/14-15

### NO: MC/BDN/ 49 / of 2014, Dated:- 15/12/2014

TO,

The Deputy Director (ENF-I), Sindh Public Procurement Regulatory Authority, Government of Sindh, Karachi.

Subject:- BID DOCUMENTS OF HOISTING ON SPPRA WEBSITE.

The bid documents sent to SPPRA authority for hoisting on SPPRA website as per Rule 45.



Municipal Engineer Municipal Committee Badin.

NO: 71.03 NO: 71.03 DATED: 11- 12



### BIDDING DOCUMENT

FOR

SUPPLY OF CLOTH FOR UNIFORM.

### Part-IV

### **Bid Data Sheet**

The following specified data for supply and Installation of Machinery Equipment & Hardware to be procured shall complement, supplement, or amend the provisions in the Instructions to Bidders (ITB) Part One. Whenever there is a conflict, the provisions herein shall prevail over those in ITB.

	Introduction
ITBI	Name of Procuring Agency: Municipal Committee Badin.
ITB I	Name of Contract. Supply of Cloth for Uniform.
	Bid Price and Currency
ITB 4	Price quoted by the Bidder shall be "fixed" and in Pak Rupees"
	Preparation and submission of Bids
1TB 7	Qualification requirements:
	1. Registration with Tax authorities.
	2. Minimum 3 years of field.
ГТВ 9	Amount of bid security Rs. 10000/-
ITB 10	Bid validity period, 90 days.
ITB 11	Number of copies. One original,
1TB 13	Deadline for bid submission.
TTB 19.1	Bid Evaluation:- Lowest evaluated bid



### Part-VI

### SCHEDULE OF REQUIREMENTS.

The delivery schedule hereafter expressed the date of delivery required.

Sr: No.	Product	Quantity	Required Delivery Schedule from the Date of Contract Award	Location
i+ (i)	Lawn for Turban	168 Meters.	One week.	M.C Badin.
(ii)	Fabron for Male Shalwar, Kamiz.	3150 Meters.	One week.	M.C Badin.
(iii)	Lawn for Sarhi.	540 Meter.	One week.	M.C Badin.
(iv)	Chheet for Ghaghra.	360 Meters.	One week.	M.C Badin.
(v)	Lawn for Dopatta.	102 Meters.	One week.	M.C Badin.
(vi)	Lawn for Ladees Shahlwar, Kamiz.	238 Meters.	One week	M.C Badin.
(vii)	Khaki Zeen.	08 Meters.	One week.	M.C Badin.
(viii)	Whit Zeen.	48 Meters.	One week.	M.C Badin.
(ix)	Blue Zeen	200 Meters.	One week.	M,C Badin.
(x)	P. Cap.	03 Nos:	One week	M C Badin.
(xi)	Long Boot,	31 Nos:	One week.	M.C Badin.
(xii)	Hand Gloves.	26 Nos:	One week.	M.C Badin.
(xiii)	Cap.	29 Nos;	One week.	M.C Badin.

Note: Specification of above items are attached.



### Price Schedule in pak, Rupees

Name of Bidder Nisar Cloth Store Shahi Bazar Badin IFB Number \_\_\_\_ Page of \_\_\_\_

7	2	3	4	5	6	7
Item	Description	Country of origin	Quantity	Unit price	Total	Remarks (if any)
(1).	Lawn for Turban.	Lawn for Turban,	168 Meters	130/-	21840/-	
(ii)	Fabron for Male Shalwar, Kamiz.	Fabron for Male Shalwar, Kamiz,	3150 Meters	135/-	425250/-	
(iii)	Lawn for Sarhi	Lawn for Sarhi.	540 Meters	130/-	70200/-	
(iv)	Chheet for Ghaghra	Chheet for Ghaghra	360 Meters.	135/-	48600/-	
(v)	Lawn for Dopatta.	Lawn for Dopatta	102 Meters	128/-	13056/-	
(12)	Lawn for Ladees Shahlwar, Kamiz.	Lawn for Ladees Shahlwar, Kamiz	238 Meters	135/-	32130/-	
(vii)	Khaki Zeen.	Khaki Zeen.	08 Meters	290/-	2320/-	
(viii)	Whit Zeen.	Whit Zeen	48 Meters	290/-	13920/-	
(18)	Blue Zeen.	Blue Zeen.	200 Meters	290/-	58000/-	
(x)	P. Cap.	P. Cap.	03 Nos:	1680/-	5040/-	
(81)	Long Boot.	Long Boot.	31 Nos:	2200/+	68200/-	
(xii)	Hand Gloves.	Hand Gloves.	26 Nos;	830/-	21580/-	
(xiii)	Cap.	Cap.	29 Nos:	730/-	21170/-	

Signature of Bidder NISOS

Note:-

- In case of discrepancy between unit price and total, the unit price shall prevail.
- (ii) The unit and total prices Delivered at SPPRA office should include the price of incidental services. No separate payment shall be made for incidental services.



### Form-II

### Price Schedule in pak, Rupees

### Name of Bidder M. Ishaque Cloth Store Quaid-E-Azam Road Badin IFB Number Page of

l l	2	3	4	5	6	7
Item	Description	Country of origin	Quantity	Unit price	Total	Remarks (if any)
I+ (i).	Lawn for Turban.	Lawn for Turban.	168 Meters	185/-	31080/-	
(ii)	Fabron for Male Shalwar, Kamiz.	Fabron for Male Shalwar, Kamiz.	3150 Meters	180/-	567000/-	
(111)	Lawn for Sarhi,	Lawn for Sarhi.	540 Meters	185/-	99900/-	
(10)	Chheet for Ghaghra.	Chheet for Ghaghra	360 Meters	175/-	63000/-	
(8)	Lawn for Dopatta.	Lawn for Dopatta.	102 Meters	185/-	18870/-	
(91)	Lawn for Ladees Shahlwar, Kamiz.	Lawn for Ladees Shahlwar, Kamiz.	238 Meters	185/-	44030/-	
(vti)	Khaki Zeen.	Khaki Zeen,	08 Meters	295/-	2360/-	
(471)	Whit Zeett.	Whit Zeen.	48 Meters	295-	14160/-	
(M)	Blue Zeen.	Blue Zeen.	200 Meters	295/-	59000/-	
(x):	P Cap:	P. Cap.	03 Nos:	1695/-	5085/-	
(x1)	Long Boot.	Long Boot.	31 Nos:	3560/-	110360/-	
(kii)	Hand Gloves.	Hand Gloves	26 Nos:	850/-	22100/-	
(xiii)	Cap.	Cap.	29 Nost	750/-	21750/-	

Signature of Bidder

Note:

- (iii) In case of discrepancy between unit price and total, the unit price shall prevail.
- (iv) The unit and total prices Delivered at SPPRA office should include the price of incidental services. No separate payment shall be made for incidental services.



Date of opening

11.12.2014.

## COMPARATIVE STATEMENT.

# SUPPLY OF CLOTH FOR UNIFORM OF MUNICIPAL COMMITTEE BADIN.

750,	Hand Gloves, 850/- 21580/-	Long Boot. 2200/- 68200/- 3560/-	P. Cap. 1680/- 1695/-	Blue Zeen. 290/- 58000/- 295/-	Whit Zeen. 290/- 13920/- 295/-	Khaki Zeen. 290/- 2320/- 295/-	Lawn for Ladees Shahlwar, Kamiz. 135/- 32130/- 185/-	Lawn for Dopatta. 128/- 13056/- 185/-	Chheet for Ghaghra. 135/- 48600/- 175/-	Lawn for Sarhi. 130/- 70200/- 185/-	Fabron for Male Shalwar, Kamiz. 135/- 135/- 425250/-	Rate. Amount. Rate.	Description.  Nisar Cloth Store Shahi Bazar Badin. M.Ishaque Cioth Store Quad-t-Azam Road Badin.
	**	1002	200	. 5%	10			52	20	1			Road Badin.

Chief Municipal Officer/Member of Procurement Committee M.C Badin.

Assistant Director/Member of Procurement Committee Local Fund Audit Badin.

Assistant Director/Chairman of Procurement Committee Local Govt: Badin.



### BIDDING DOCUMENT

FOR

SEWING CHARGE.

### Part-IV

### **Bid Data Sheet**

The following specified data for supply and Installation of Machinery Equipment & Hardware to be procured shall complement, supplement, or amend the provisions in the Instructions to Bidders (ITB) Part One. Whenever there is a conflict, the provisions herein shall prevail over those in ITB.

	Introduction
ITB I	Name of Procuring Agency: Municipal Committee Badin.
ІТВ І	Name of Contract. Sewing Charge.
	Bid Price and Currency
ITB 4	Price quoted by the Bidder shall be "fixed" and in Pak Rupees"
3/10/2021	Preparation and submission of Bids
ITB 7	Qualification requirements:
	Registration with Tax authorities.
	2. Minimum 3 years of field.
1TB 9	Amount of bid security Rs. 5000/-
1TB 10	Bid validity period. 90 days.
ITB 11	Number of copies. One original.
FFB 13	Deadline for bid submission.
ITB 19.1	Bid Evaluation:- Lowest evaluated bid



### Part-VI

### SCHEDULE OF REQUIREMENTS.

The delivery schedule hereafter expressed the date of delivery required.

Sr: No.	Product	Quantity	Required Delivery Schedule from the Date of Contract Award	Location
11-	SEWING CHARGE.			
(i)	Shalwar Kamiz Male & Fe- male.	534 Pairs.	One week.	M.C Badin.
(ii).	Dangri, Ghaghra and Driver Uniform	132 Nos:	One week.	M.C Badin.

Note: Specification of above items are attached



### Price Schedule in pak, Rupees

Name of Bidder Nisar Cloth Store Shahi Bazar Badin IFB Number \_\_\_\_ Page of \_\_\_\_

1	2	3	4	5	6	7
Item	Description	Country of origin	Quantity	Unit price	Total	Remarks (if any)
fl-	SEWING CHARGE.	SEWING CHARGE.				
(t)	Shalwar Kamiz Male & Fe-male.	Shalwar Kamiz Male & Fe- male,	534 Pairs.	530/-	283020/-	
(ii).	Dangri, Ghaghra and Driver Uniform	Dangri, Ghaghra and Driver Uniform	132 Pairs.	560/-	73920/-	

Signature of Bidder N/505

Note:-

- (i) In case of discrepancy between unit price and total, the unit price shall prevail.
- (ii) The unit and total prices Delivered at SPPRA office should include the price of incidental services. No separate payment shall be made for incidental services.



### Price Schedule in pak, Rupees

Name of Bidder M. Ishaque Cloth Store Quaid-E-Azam Road Badin | IFB Number \_\_\_\_\_ Page of \_\_\_\_\_

1	2	3	4	5	6	7
Item	Description	Country of origin	Quantity	Unit price	Total	Remarks (if any)
11-	SEWING CHARGE.	SEWING CHARGE.				
(1)	Shalwar Kamiz Male & Fe-male,	Shalwar Kamiz Male & Fe- male,	534 Pairs.	600/-	320400/-	
(11)-	Dangri, Ghaghra and Driver Uniform	Dangri, Ghaghra and Driver Uniform	132 Pairs.	620/-	81840/-	

Signature of Bidder Osen

### Note:-

- (iii) In case of discrepancy between unit price and total, the unit price shall prevail.
- (iv) The unit and total prices Delivered at SPPRA office should include the price of incidental services. No separate payment shall be made for incidental services.



Date of opening

11.12.2014.

## COMPARATIVE STATEMENT.

### SEWING CHARGE.

No:	Description.	Nisar Cloth Store	Nisar Cloth Store Shahi Bazar Badin.	M.Ishaque Cloth S Road	M.Ishaque Cloth Store Quaid-E-Azam Road Badin.
		Rate.	Amount.	Rate.	Amount.
II- SEWING CHARGE.	HARGE.		The second second		
J.	***************************************				
(i) Shaiwar Kam	Shaiwar Kamiz Male & Fe-male.	\$30/- P. Pair.	283020/-	600/- P. Patr.	320400/-
(ii) Dangri, Ghag	Danger, Ghaghra and Driver Uniform	560% p par	27070	C 00 00 00	

Chief Municipal Officer/Member of Procurement Committee M.C Badin.

Assistant Director/Member of Procurement Committee Local Fund Audit Badin.

Assistant Director/Chairman
of Procurement Committee
Local Govt: Badin.